H & 0l & AHS B Ml A

2N SBE=l
M FO=EXLE
St XSARISAIY 2435t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SE=s1 13,944,264 14,184,131 A239,867
= 473,300
[ 2,671,348
= 948,862
Al 9,850,754
HOH=EXAE 12,952,474 13,219,270 N266,7%6
= 473,300
[ 2,369,260
= 938,379
Al 9,171,535
KNS AR SXIALY E835t 8,780,548 9,026,830 N246,282
= 453,300
[ 332,990
Al 7,994,258
AR SR 2 7,217,018 7,148,730 68,288
201 er2 3| 31,800 1,800 30,000
01 At2t2lt] 31,800 1,800 30,000
OAtalsXI2 2I2t2(E AoPRe BN
1,500,000 1,500
OFSEAteI =2 S (del2dHst)
LAESS ot 30,000,000 30,000
OFESEAaI=A2 22H(He20H5 )
HANZ 28 SI| =& S HUlS
300,000 300
307 glztol & 7,183,370 7,142,277 41,093
05 2ItRIE =S 6,561,781 6,527,404 34,377
OAlz|=X2 2T (9H2)
6,561,781,000& 6,561,781
10 AlISAAEEHE 22X 621,589 614,873 6,716
OxAZSEAMSISN2 238 2X5
621,589,000 621,589
401 AIEHIZ R HYI 1,848 4,653 A2,805
01 Al&H| 1,848 4,653 2,805
ON3BAld= ZIIAHNEH
924,000& * 174 2=%22] 1,848
MEIEX2 J|ISE2ZAY 104,630 261,000 A156,370
307 el2tol & 50,000 50,000 0
11 AMEISXAIEEXS 50,000 50,000 0
OLZESAE S 2 FeIXI& A
50,000,000 50,000
402 212+ X=201H 54,630 211,000 156,370
03 2IZHRAETAIHHI 54,630 211,000 A156,370
OLAESAte =X 2 F2X2 A
54,630,000 54,630
SEAEIS X2 SAHA MM 94,800 94,800 0




2N SBE=l
B aol=x|ad
Eelr XA S XAIY 243t (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
= 94,800
301 LPBNF 94,800 94,800 0
= 94,800
02 MBI EEAGS(HAUAS, XLTHEA) 94,800 94,800 0
OBEARIZX 2 SAEL MM AL]
50,0002« 158« 12 HA,800
& A,800
SEAEI =SR2 BAK S22 221,400 221,400 0
& 22,140
Al 199,260
301 LPENZ 221,400 221,400 0
& 22,140
Al 199,260
2 AN BEA>HS(HUYHS, NYTHA) 221,400 221,400 0
OB =X 2 SAHAL E+22Y
221,400,000 221,400
T 22,140
Al 199,260
MBI SR 2e| 80,640 80,640
301 LetENEZ 80,640 80,640
10 A ESRRJIELZ 80,640 80,640
OAM2 =201 SAlH|
7,000 x48ZF+202 * 12 80,640
KSAE SESE(MEIA) 939,500 1,300,900 A361,400
= 453,300
& 135,990
Al 350,210
201 L2 | 31,800 35,600 A3,800
= 2,100
= 630
Al 29,070
01 ArR22ltl 8,400 8,600 A200
OXIg At Sgtss 82 29
100,000 18 +23| 3,600
OXlgAte Sgtss 24
2,000,000& 2,000
OAO{ oAl =& AXt= 2,800,000& 2,800
= 1,400
& 420
Al 980
2 S=29| 23,400 22,000 1,400
OADEE 29 22,000,000 22,000
Ot ==e 2RSS
1,400,000& 1,400
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SN SHESD
BH: EHOI=T/AE
St XSARISAIY 2435t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 700
=S 210
Al 490
203 gF=4| 4,200 4,200
03 A=A =TH] 4,200 4,200
Osgss g4y 4,200,000 4,200
301 LEtE NS 400 500 A100
11 dALEEIXIE S 400 500 A100
OsSEgXaae 29 400,000& 400
307 gl2to| & 902,400 1,260,000 A357,600
= 451,200
= 135,360
Al 315,840
1 ABIZXIAEE 902,400 1,260,000 357,600
OMEIR AHEX 28 LM X8
629,600,000 629,600
= 314,800
S 94,440
Al 220,360
O=3s SMESXE
51,400,000 51,400
= 25,700
= 7,710
Al 17,990
OXle 2SN N U TS
51,400,000 51,400
= 25,700
= 7,710
Al 17,990
OLolSE HBLEHOHE 2
110,000,000& 110,000
= 55,000
= 16,500
Al 38,500
Ot SHN MEIA 60,000,000& 60,000
= 30,000
= 9,000
Al 21,000
406 JIEFAH=Z01E 700 600 100
01 JIetAt=01d 700 600 100
OO Ot =B HAH S A XESS
700,000 700
U =S8 122,560 0 122,560
= 80,060




SN SHESD
B aol=x|ad
St XSARISAIY 2435t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 42,500
201 er23y| 22,500 0 22,500
=S 20,000
Al 2,500
01 AtR2tc|Hl 22,500 0 22,500
OS2 E2 Al 29
22,500,000 22,500
< 20,000
Al 2,500
301 EtE N = 100,060 0 100,060
= 60,060
Al 40,000
02 AR 2HHLFS(HAAS, XNLHE) 100,060 0 100,060
O=7U E2 MHIA HB
100,060,000& 100,060
== 60,060
Al 40,000
KNAASSXHA 22 911,285 978,989 AN67,704
= 20,000
[ 288,260
= 119,569
Al 483,45
FetssHe 28X 438,8% 427,034 11,822
= 89,612
Al 349,244
201 ger=3| 8,800 10,000 1,200
== 2,000
Al 6,800
01 Al 22| 6,300 7,500 A 1,200
ORBISSHE ALEX Us2YY)
6,300,000 6,300
& 1,500
Al 4,800
2 s5=34l 2,500 2,500 0
ORsIS=HE BRI
2,000,000 2,000
=S 400
Al 1,600
ORet=sHH Stz 500,000 500
= 100
Al 400
202 04l 1,738 1,740 A2
= 348
Al 1,390




SN SHESD
BH: EHOI=T/AE
&elr XNGARISXHA =29 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 2LHoIH 1,738 1,740 A2
OFet==HH 258 QZtAdI22IAL =W
1]l 1,738
—E30 120,000 x1&* 122 1,440
=S 288
Al 1,152
—w=0H 298,0002x1H =13 298
< 60
Al 238
307 elzto| & 428,318 415,294 13,024
= 87,264
Al 341,04
05 212t =S 428,318 415,24 13,024
ORset==HH HEHIE 24 428,318
—Q1244| 396,318,000 396,318
< 79,264
Al 317,054
—2gHl 32,000,000& 32,000
= 8,000
Al 24,000
ANZ7 SEAtdl2el K& 19,429 20,000 A571
[ 10,000
= 1,500
Al 7,929
101 @124H| 300 900 2600
= 150
== 2
Al 128
M ORIMZZ2NSE S 300 900 2600
OSEAtllZelAr =048l (I12HHI)
300,000 300
= 150
< 2
Al 128
201 Ler23| 9,049 8,000 1,049
= 4,725
& 709
Al 3,615
01 At2t2ltl 9,049 8,000 1,049
OSE A2l XI& 2|
9,049,000& 9,049
= 4,725
S 709
Al 3,615




PN SE=s
M EHOI=T A
Sl XISABIZXIHI 2 (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 4,250 5,100 A850
= 2,125
== 319
Al 1,806
01 =LHO LI 4,250 5,100 A850
OSE At ZelAb RFHEI(SRAH)
250,000& x17& 13 4,250
= 2,125
== 319
Al 1,806
LotE N = 5,830 6,000 AT70
s 3,000
== 450
Al 2,380
01 Al 2E AT S(SREXME) 5,830 6,000 AT70
OSEAIRIZRINE A
5,830,000 5,830
s 3,000
s 450
Al 2,380
SHs A5 SEAMHIA X 342,274 365,050 N22,776
= 256,000
=S 16,457
Al 69,817
] 222,485 217,050 5,435
[ 166,400
= 10,697
Al 45,388
A2l 206,945 199,290 7,655
OSHs A5 SEFMHIA N (2EH])
206,945,000 206,945
[ 185,522
= 9,998
Al 41,425
SE=2EH 15,540 17,760 N2,220
OSHs A58 SEFMHIA N (SHE)
15,540,000 15,540
= 10,878
= 699
Al 3,963
LIPS 119,789 148,000 A28,211
[ 89,600
= 5,760
Al 24,429




SN SEEED
BH: EHOI=T/AE
CHol: NHABZ XM 2 (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 A2 HSHS(RRNEERTH) 119,789 148,000 A28,211
OSHs XSS SEAMHIA X2 (Atell2el
AbHI) 119,789,000& 119,789
= 89,600
== 5,760
Al 24,429
SEAtelZt2lA 21248 X 68,626 160,995 A92,369
= 19,860
Al 48,766
101 @12A4H| 44,146 136,515 A92,369
[ 19,860
Al 24,286
04 JIZtN2 2N S 2+ 44,146 136,515 A92,369
OSEAtdI2el JIZHHZ2Z X 21| 39,720
=2 26,400,000 26,400
= 13,200
Al 13,200
—ItE= 1,540,000 1,540
= 770
Al 770
—AN22R+E 2,860,000& 2,860
[ 1,430
Al 1,430
— NGl 1,540,000 1,540
fas 770
Al 770
—SEFOHI 1,600,000& 1,600
[ 800
Al 800
—QIOE &I 1,050,000 1,050
= 525
Al 525
— A= 550,000 550
= 275
Al 275
—EXNZ0HEE= 2,860,000& 2,860
[ 1,430
Al 1,430
—E30H 1,320,000 1,320
s 660
Al 660
OSeAtlZel JIZtN22X 282 (AHIF
ot) 4,426




SN SEEED
B aol=x|ad
el XNGARIZSXMA 2 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—=8le= 39,720,000 4. 5% 1,788
—2ZEE 39,720,000 *3.545% 1,409
—LOIIIQAEH
1,409,000 %12.95% 183
—1NEES 39,720,000 *1.75% 6%
— & HEE 39,720,000 *0.87%% 350
202 04l 24,480 24,480
01 =LHOHI 24,480 24,480
OSeAIZ2l 22E 20
120,000 x17H =122 24,480
& #IHHO0IM 22 4,800 4,800 0
[ 2,400
Al 2,400
201 2egh=3| 4,800 4,800 0
s 2,400
Al 2,400
01 At2teltl 4,800 4,800 0
OBE AHUIOIN 2% g
200,000 «2H*12& 4,800
= 2,400
Al 2,400
OO g2 Zds K& 300 1,110 AB10
301 22N = 300 1,110 A810
14 JEt2a s 300 1,110 A810
O 22 ZaZ X8
300,000 300
DA O & 2EMAH 25 ALY 37,000 0 37,000
= 20,000
< 12,000
Al 5,000
201 2egh=3| 13,700 0 13,700
= 7,500
=S 4,500
Al 1,700
01 AtR2tc|Hl 1,500 0 1,500
OLSAH Olg & 2ACIAY 28
1,500,000 1,500
= 750
=S 450
Al 300
2 35244l 12,200 0 12,200
OAl 2tRHAL AMHIA 12,200,000 12,200
= 6,750
=S 4,050

@
|




2A:
KEH
ool

S LRE-L

- SHRABA) - HRAY - BES

Ofl &F2H

MEE
Ofl &k2h

1,400

Mo

=

9,200
5,000
3,000
1,200

9,200

9,200,000&

hoH

=

9,200

9,200
5,000
3,000
1,200

9,200

307 212+01™

hoH

=

14,100
7,500
4,500
2,100

14,100

11 ARRIS XA E X
OAtz| 212

| A
HU
|
0g
H0
02

14,100,000&

hoH

=

14,100

14,100
7,500
4,500
2,100

14,100

SRR

=

3,260,641
2,081,000
485,820
693,821

3,213,451

47,190

&)

KNSIEE AtzlAHIA SEXFAY

(XIS ALS] MHIA S RFAR

SRR

=

2,852,858

2,011,000
430,929
410,929

2,872,858

220,000

308 AtXIEMSOIH

SRR

=

2,852,858
2,011,000
430,929
410,929

2,852,858

18 3I2S0HeE 4

A 2 & A

OXIS Atal MHIAEX

FAFY
2,852,858,000&

SRR

2,852,858

2,852,858
2,011,000
430,929
410,929

2,852,858

>
O
=
8%

187,773

208,983

A21,210

S
i
1z
re | o

i~
=4
=

187,773

208,983

A21,210

wW
[«
—_

>
o
I
~
=
e
HT
P

187,773

208,983

A21,210




SN SHESD
B zoi=x|Ad
Rl AEHEXIH (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S NEETEEEIE
46,082, 0002 46,082
OCHIZESOR 29 X8
100,273,000 100,273
Ou=sEsTcwy 2o X2
41,418,000 41,418
ZEWISAHA HRIHAH] 1,200 1,200 0
= 1,200
307 @I2t01 & 1,200 1,200 0
< 1,200
10 Al SXAAEEHE 22X 1,200 1,200 0
ZEWMIASAA HIHEH]
1,200,000 1,200
=S 1,200
GFEEE MY 108,288 105,000 3,288
= 32,688
Al 75,600
307 @120l & 108,288 105,000 3,288
s 32,688
Al 75,600
e NEEEEETEES 108,288 105,000 3,288
OFEICILI0IE o121y
108,283,000 108,288
< 32,688
Al 75,600
HO=A 243 N2 1,920 2,400 A480
201 Zet=Ehl 1,920 2,400 2480
01 AtR2telHl 1,920 2,400 A480
O0I=&2| JI1RA A 1,920
—HEY M 20,0002 »24& 480
— 2P AHH HI& 100,000& x4 400
—&ET A 30,0008 +82 240
—SAMNANEE ES 3002 800 240
—SH=ES 284l 120,000 32 360
—0I=&I ANRES 200,000 200
D012 LS (HHAES) 9,888 20,010 10,122
& 6,003
Al 3,885
301 LEtE NS 9,888 20,010 210,122
= 6,003
Al 3,885
4Bt 2 a3 9,888 20,010 10,122
OgliAz=sAssa 2352
9,888,000 9,888




2N SBE=l
B zoi=x|Ad
Rl AEHEXIH EEREE)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 6,003
Al 3,885
A2 3l 2el 3,000 3,000
201 B2 AY| 3,000 3,000
01 At=R2teld| 3,000 3,000
O8X= 3l 2l 3,000,000& 3,000
La=sAHIA 95,714 0 95,714
= 70,000
& 15,000
Al 10,714
201 L2 AY| 5,000 0 5,000
s 3,500
T 750
Al 750
01 Al2 2218 5,000 0 5,000
OYMEBAHI AN 2
5,000,000& 5,000
s 3,500
= 750
Al 750
308 AHXIHMSOIH 0,714 0 0,714
= 66,500
= 14,250
Al 9,964
13 BI |2 SUICHEHZ A E L EF AL Q0,714 0 Q0,714
O a3 MEIAAS 90,714,000 0,714
= 66,500
= 14,250
Al 9,964
Y 2AEH(SE==) 991,790 964,861 26,929
= 302,088
& 10,483
Al 679,219
oI 2I| 959,25 924,388 34,868
= 302,088
= 10,483
Al 646,685
SEAteZ2IA 12| 906,837 876,195 30,642
= 302,088
Al 604,749
101 2124 d| 760,920 733,380 27,540
= 302,088
Al 458,832
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£N: SgEs
. WH2AAH|(SES2)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0B SRA(PIH L) 22X 2+ 760,920 733,380 27,540
OZRE SSARYIZ2IAL 2121 760,920
== 2,720,002+ 172 * 128 554,880
T 277,440
Al 277,440
—JiEay 1400002 * 17 * 128 28,560
2 14,280
Al 14,280
— Dt A 123,00081 17 %10 20,910
2 10,368
Al 10,542
—HE SO (AIHIZFIH)
1,632, 000241723 55,488
— XA (AIBIZFI)
50,0008 172 x 128 10,200
—ZHZAHI(AIBIFIH)
1400002417+ 12 28,560
—AIRtRI2 R4S (A=)
23,5002 * 172 *13AI 2++ 128 62,322
304 H2RE3S 145,917 142,815 3,102
M SRH(LIHL) 22N BERRL2 S 145,917 142,815 3,102
OB2z SsAldZ2IAN BEHEREE S(
AlHIZDL) 145,917
—=20leiz 760,920,000 *4. 5% 34,242
—AALE 760,920,0002 *3. 545% 26,975
— QI QU E
26,975,002 %12.95% 3,4%
—-1E2E 760,920,000 *1.75% 13,317
— AU E 760,920,0002*0.87% 6,689
—EINBHEYS
300,00024 17+ 128 61,200
PEISZHESAIX 12| 52,419 48,193 4,226
= 10,483
Al 41,93
101 12| 43,926 40,125 3,801
= 8,785
Al 36, 141
0B SRE(LIH )2 RXES 43,926 40,125 3,801
ORSSSHE IPE At ZElAL 212
bl 43,926
U= 2,790, 0002+ 1%+ 122 33,480
= 6,6%
Al 26,784
— XA 50,0002 * 1+ 128 600
= 120




AN Se=EsS0
M HYRAZH(SES=L)
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 480
IR
23,0002« 1 =134 2+ 123 3,588
[ 718
Al 2,870
—gAZAHI 140,000 x 12 x 122 1,680
= 336
Al 1,344
—ZE=JH 1,674,0002 x 122 3,348
== 669
Al 2,679
—ItE 4 123,0003 x1& =10 1,230
= 246
Al 984
M HA=FE=SS 8,493 8,068 425
= 1,698
Al 6,79%
04 SR (RIH )22 BEE=RES S 8,493 8,068 425
OFet=sSHH S22 2ZHAtd2elAl 28
RS S 8,493
—=0le= 43,926,000 *4 . 5% 1,977
S 3%
Al 1,581
—2ZEE 43,926,000& *3.545% 1,558
= 312
Al 1,246
—LOIE)| QU
1,558,000 %12.95% 202
< 40
Al 162
—1EEE 43,926,000 *1.75% 769
= 153
Al 616
—&HEE 43,926,000 +0.87%% 387
== 7
Al 310
—gx30Eg2
300,000 x1&* 122 3,600
= 720
Al 2,880
==lal 32,534 40,473 AT7,939
JI=23Hl 32,534 40,473 AT7,939
201 ger=3| 16,694 15,251 1,443
01 AtR2te|H] 15,552 13,824 1,728
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